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Directions: Choose the word or phrase (1), (2), (3), or (4) that best compIet

Il each sentence. e correct choice 1
She emanated worldliness and the selfishness of one who is ....... .... to everything but her
own needs and caprices.

1) visible 2) compensatory 3) available 4) indifferent
Concrete blocks were piled high to .......... the government center.

1) fortify 2) reveal 3) circulate 4) overlap

All sound has three .........: pitch, volume, and duration.

1) impacts 2) merits 3) properties 4) realms

One of Britain’s most .......... criminals has escaped from prison.

1) meritorious 2) notorious 3) indigenous 4) industrious
By the 1930s the wristwatch had almost completely .......... the pocket watch.

1) devised 2) thwarted 3) supplanted 4) founded
She cared for her stepmother with unfailing .......... throughout her long illness.
1) devotion 2) conformity 3) defect 4) prevalence
Ryan needed ........... agreement to bring his proposal up for a vote.

1) contentious 2) adjacent 3) deliberate 4) unanimous
With so much water having ......... its exterior, the engine was effectively ruined.
1) varnished 2) penetrated 3) inhabited 4) exceeded
Considering the ........... of his injuries, he’s lucky to be alive.

D) hurdle 2) divergence 3) extent 4) symptom
They intend to keep their force there in the region to ......... compliance with the treaty.
1) verify 2) recollect 3) seize 4) conquer

B: Cloze Test

| | Directions: Read the following passage and decide which choice a), 2), (3), or
L (3) bes mark the correct choice on your answer sheet.

The extensive fossil record of genera and species is testimony that dinosaurs were diverse

animals, (11) ........ lifestyles and adaptations. Their remains (12) ......... in sedimentary rock
layers (strata) dating to the Late Triassic Period (227 million to 206 million years ago). The
abundance of their fossilized bones is substantive proof (13) ......... dinosaurs were the
dominant form of terrestrial animal life during the Mesozoic Era (248 million to 65 million
years ago). It is likely that the known remains (14) .......... a very small fraction (probably less
than 0.0001 percent) of all the individual dinosaurs (15) ...........

1) and widely various 2) with widely varying

3) with wide varieties 4) and varying with wide

1) found 2) that are found 3) are found 4) have found

1) whether 2)if 3) when 4) that

1) representing 2) representative of  3) a representation of 4) represent

1) were living once 2) that once lived

3) that lived once 4) once that they lived



PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by
choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
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Passage 1:

Correlations among variables are typically not free to vary between — 1 and 1, with bounds
determined by the marginal distributions. Computing upper and lower limits of correlations
given the marginal characteristics often raises theoretical and computational challenges. We
propose a simple sorting technique that is predicated upon a little-known consequence of a
well-established fact from statistical distribution theory to obtain approximate correlation
bounds. This approach works regardless of the data type or distribution. We believe that it has
practical value in appropriately specifying the correlation structure in simulation studies.

What determines the bounds with which correlations vary is ------------ .

1) the marginals 2) the variances 3) the means 4) the distribution
Computation of the bounds for correlations is --------------- .

1) easy 2) challenging 3) impossible 4) not useful
Which approach works?

1) Sampling 2) Simulation 3) Regression method 4) An arranging method
“To specify” (line 7) means ---------------—- .

1) To consider a special case 2) To say briefly

3) To express carefully 4) To calculate the value

Which one is correct?

1) Let us to compute .... 2) Let us computed .....

3) Let us computing ..... 4) Let us compute ....

Passage 2:

Measures of kurtosis, when applied to asymmetric distributions, are typically much
affected by the asymmetry which muddies their already murky interpretation yet further.
Certain kurtosis measures, however, when applied to certain wide families of skew-symmetric
distributions display the attractive property of skewness-invariance. In this article, we
concentrate mainly on quantile-based measures of kurtosis and their interaction with
sknewness-inducing transformations, identifying classes of transformations that leave kurtosis
measures invariant. Further miscellaneous aspects of skewness-invariant kurtosis measures are
briefly considered, these not being quantile-based and/or not involving transformations. While
our treatment is as unified as we are able to make it, we do not claim anything like a complete
characterization of skewness-invariant kurtosis measures but hope that our results will
stimulate further research into the issue.

Which measure is affected by asymmetry?

1) Kurtosis 2) Variance 3) Mean 4) Correlation
What is the passage mainly concerned with?

1) Quantile 2) Median

3) Measure of kurtosis 4) Invariance

“To stimulate” (line 11) means -------—------- .

1) to halt 2) to inform 3) to encourage 4) to duplicate
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Is the treatment of the subject complete?

1) Yes 2) No 3) Perhaps 4) As far as possible
The result of this study ------------ .

1) is not useful 2) leads to further research

3) is hopeless 4) is wrong

Passage 3:

Rodgers and Nicewander (1988) presented thirteen different formulas for calculating the
correlation coefficient. Each formula is intended to motivate an alternative computational
and/or conceptual interpretation of this “universal” measure of association. This theme was
continued by Rovine and Von Eye (1997), Falk and Well (1997), and Nelsen (1998). The
purpose of this short note is to highlight a simple geometrical interpretation of the contributing
terms in the summation in (3). The geometrical interpretation of the sample covariance
presented here supplements these discussions of the correlation as the latter is a rescaled
version of the former.

Who introduced different formulas for correlation?

1) Two students 2) Two writers 3) Two statisticians  4) Two merchants
“To motivate” (line 2) means ------------ .
1) to make eager 2) to make easy 3) to move 4) to complete
Correlation is a kind of a measure of -—----------- .
1) variation 2) association 3) concentration 4) independence
What kind of interpretation is used in the passage?
1) Geometric 2) Arithmetic 3) Statistical 4) Philosophical
The subject was further studied ----------- .
1) after the year 2000 2) in Iran
3) for only one year 4) by several statisticians
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